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50mP60OM FRTETA17H~208 BFREEFAEANRIXRS
MBS | 5 8% | & BB 9574 K % B>ID P1 P2 P3 P4 P5 P6 | Aft | X
1114 9 =4 w o B 102.9 [104.9 [100.7 [103.8 [102.0 [105.1 | 619.4] 35
21 815 [FITo55 FE Hth 98.1(102.8 (103.5[103.5|105.0 {105.8 | 618.7| 36
3118] 3 A.AA. &R hE 102.0 [104.0 [102.9 [104.6 {103.3 [101.6 | 618.4] 37
4 112] 8 #Z=)11SC A HE # 102.5(102.5(102.51103.9|102.8|103.8| 618.0] 34
5]15]16 Back Fire E@E @#~N 102.3(102.6 [103.0 [104.2 [102.6 [102.7 | 617.4] 33
61913 R—Fwb 215 RE 102.9 [104.2 [103.8 [102.7 [100.1 |102.5] 616.2] 30
7111 4 By G iR RRE 101.7 [103.0 [102.3 [103.8 {102.8 [102.2 | 615.8] 36
8 |14] 3 e Eil ZFX 103.7 [100.7 [103.2 [101.7 [102.5 [102.7 | 614.5] 32
9 |19 3 | &m&ThMmet | NI R 102.5[104.3 [102.1 [101.6 [102.4 |101.5]| 614.4] 30
10|71 8 RERE: EALE=EF 103.0 [102.7 [101.3 [{102.9 {102.4 [101.9 | 614.2] 28
11]16] 2 A.AA. A EHX 103.0 [100.2 [102.3 [104.1 {100.7 [103.0| 613.3] 32
12121 9 RERE BE R 100.5 [103.0 [102.1 [103.0 {101.2 |103.4| 613.2] 29
13|15]| 4 EEES HiE HE 103.2[101.4 [104.0 [101.1 [{101.4 [102.0| 613.1] 32
14| 20| 7 RERE: BsfE  GLEE 101.2 [101.7 [103.2 [103.8 [102.4 |100.7 | 613.0] 31
151 11] 8 #%3)11SC EH Bt 101.0 [100.7 [103.7 [102.0 [{104.0 |101.6 | 613.0] 27
16| 7| 5 [FICP55 EEH Mt 100.6 [103.1 [103.7 [101.0[103.2 |101.2 | 612.8] 31
171 3 |16 z0vy -7 EX 101.2 ({101.6 [104.8 |102.0| 99.8|103.0]| 612.4] 31
18| 11] 2 A-ILBX BER A 102.0 [101.2 [102.5 [102.6 {100.9 [102.6 | 611.8] 29
19| 18| 6 |vxxez5170057| RIE R 101.3[102.3 [100.2 [{103.1 {103.5[100.6 | 611.0] 22
2019 5 Back Fire #IL #E] 102.3[101.6 [103.0 [100.8 [101.3 |101.7 | 610.7| 24
21112110 piid=} A 74 102.6 [102.1 [100.3 [103.0 [{101.7 [100.8 | 610.5| 23
22| 8 | 9 | F—AFUJHRRA | &1E #X 101.5| 99.8 (101.0 {104.9 {101.5[100.9 | 609.6] 26
23| 20| 2 | ~oUOT—F— | A #HE 100.8 {101.0{101.1 |101.1 |102.6 |102.5] 609.1] 25
241 7| 6 MZ2)1|1SC EH = 101.7 [101.1 [102.2 [101.1 | 99.9 [102.6 | 608.6| 25
25| 81 8 K AfRETRER 102.0 ({102.6 [101.6|100.4| 99.9|101.9 | 608.4] 21
26| 13| 6 |eES 7Lo5T7| #H TR 102.3103.6 | 99.1(101.8 [101.0 [100.6 | 608.4| 23
271 20| 11 FRPIGES HWE = 100.2 | 97.8(103.2(103.3(100.7 [102.9 | 608.1] 27
281 20| 6 NRT % ] 99.41104.11100.91104.3|100.4| 98.9| 608.0|] 26
29| 12| 5 | koVOF—F— | A BFE 100.4 {101.5(102.01102.81100.9 |100.3 | 607.9] 21
30| 18| 4 B i il Af B 100.2 [100.8 [103.1 [100.9 [101.1 [101.6 | 607.7| 25
31117 7 | F—AFUJHRA | & & 102.1 [102.2 [102.9| 99.2 (102.9 | 98.3| 607.6| 24
32| 15] 2 [FICP55 P BE 99.8 [101.5|104.9 [100.5|102.7 | 98.2| 607.6| 26
331211 8 #Z=)11SC B =% 101.0 {100.0 {100.1 |102.8|100.8|101.9 | 606.6] 26
341 9| 2 A-ILBX At = 101.3[101.2 [101.1 [102.0 | 98.5|102.3 | 606.4| 24
35]10] 3 R—Fwb Hf EE 101.4 [103.1 [101.6 | 99.7 [101.4| 99.0| 606.2| 25
361 21| 6 NRT " B 100.8 | 99.0(102.11103.2|100.5|100.6 | 606.2| 25
371 13| 4 B EES ZFE 55 100.3 [102.5 [100.7 [100.9 [{102.0 | 99.7 | 606.1] 22
38| 3 |17 7095 Bl #BE 98.4(102.8|102.8 |100.4 [101.4 [100.2 | 606.0| 21
391 7| 2 AYAY“fu R ME 101.1| 99.9(101.4 [101.1 [102.5[100.0 | 606.0| 23
40\ 717 RE—F R B Bx 98.7 |101.7 |102.9 |102.1 | 98.9 [101.6| 605.9| 21
41121]10 0y Fig & 101.6 [102.6 [100.7 [101.6 | 97.2 [101.8 | 605.5| 25
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50mP60OM FRTETA17H~208 BFREEFAEANRIXRS
MBS | 5 8% | & BB 9574 K % B>ID P1 P2 P3 P4 P5 P6 | Aft | X
42| 18] 11 AAA. MEET: 100.5 [101.6 [100.8 [101.1 | 99.4{101.9] 605.3] 20
43]10] 2 A-IBX FER o1 101.5| 99.0(101.2 [{100.5 [102.7 |100.4 | 605.3] 26
44|20 4 R—Fwb INEF RIS 101.0 [102.7 [100.4 [100.4 [101.4 | 99.4 | 605.3| 24
451 10| 4 |7nx7145470057| T EFE 102.5(100.1 [100.8 |100.9 | 99.2 |101.5] 605.0] 21
46| 11| 9 | ¥—AFUJHRA | BFE  # 99.1|102.5|101.6| 98.1| 99.8 [103.7 | 604.8| 28
47119112 #Z2)11SC E#E E— 101.9[101.2 | 98.6(102.4 (101.3| 99.3| 604.7| 22
48| 4 | 16| A—IRFA3— | RAR 1% 98.6 [100.9 | 98.9(101.5(102.1 |102.2 | 604.2| 25
49| 20| 9 RERE ®E —F 100.0 [102.3 [100.2 [100.9 [100.1 |100.7 | 604.2| 24
50|121| 3 KK EHINE— 100.4 {100.5| 98.9|102.9|101.9| 99.5| 604.1] 19
51]120] 8 k=] = B 103.1| 99.0| 99.7 [100.3|100.9 [100.7 | 603.7| 21
521 71 9 F—ASOS RER 1EH] 102.4| 99.8100.9 {101.2 |{100.7 | 98.5]| 603.5] 21
53119 4 =gt B2 K@ 100.6 [102.7 [100.0 | 98.5(100.4 [101.1 | 603.3] 22
541 7 110 Z0vy KiE & 101.1 {100.3 [100.0| 99.6|102.5| 99.4| 602.9] 22
55112 3 =t 1TE 32 3 101.4| 98.6|101.0| 99.5| 98.8|102.0| 601.3] 16
56| 11]| 3 R—Fwk ki B2 98.3(100.4 | 98.9(100.9 (101.8 |100.6 | 600.9] 23
57]119] 6 k=) BNl E— 98.8 (101.8102.6 | 96.6|101.5| 99.4 | 600.7| 24
58| 18| 5 | koUsF—A4— | KB BN 100.7 {100.9 | 99.11100.8| 99.2| 99.5]| 600.2] 19
59| 16| 6 |vzxez54704057| R FEA 98.2 [102.0|100.3 | 99.4| 99.0 [101.3] 600.2| 20
60| 9| ©6 #%)IISC Tk ek 99.2 (101.0| 99.5(102.0100.2 | 98.1| 600.0| 16
61]14] 2 Back Fire IR iR 97.0 | 99.5|100.2 [100.3|102.4 {100.4 | 599.8| 19
62|18| 8 | 774—>747 | =H # 101.5(101.3 [102.7 | 99.1| 99.4| 95.8] 599.8] 20
63| 1|16 F—AS0S & 1T 100.3 [101.2 | 99.6 [101.1 [100.1| 97.1] 599.4| 21
64| 14| 6 |kEES TLs5T7| LH KB 98.2 99.5(100.7 | 99.4| 99.8101.4| 599.0| 19
65]10] 6 B Cipend il KA R 96.2 [101.1|100.5 [100.1 | 99.9 [100.9 | 598.7| 11
66| 10| 8 F—ILEX Bl EN 99.81101.4| 95.81102.0| 99.8| 99.7| 598.5] 18
67| 13| 8 | 774—7747 | A 7 99.8| 96.7100.1| 97.9|101.5[101.8| 597.8| 17
6813 3 F—ASOS Hf &) 101.3[101.5| 97.5(102.0| 96.1| 99.0| 597.4] 17
691141 4 ITHES BEH #Ez 96.91100.6 | 98.81102.2| 99.5| 98.4| 596.4| 17
701 2 | 15| A—IKsa1<— | KB Z=— 99.3| 98.6|100.4| 97.2| 99.3(101.3| 596.1] 20
71119] 8 AAA. mA B 98.9| 99.5|100.5| 97.9| 97.7 [101.1| 595.6| 16
72115] 3 bR hig &2 98.5(100.8 | 97.0| 99.0| 98.0|102.0] 595.3] 15
731 8| 6 #z)1SC £EEKER 100.3 | 99.1| 97.8| 99.3| 99.1| 99.5] 595.1] 11
741 12| 2 ATAY St BFE £t 102.3(102.6| 98.5|100.4| 93.2| 97.8] 594.8] 15
7511913 #Z2)11SC Ak E 100.5| 97.2| 97.0| 98.4| 99.2 (102.2 | 594.5| 22
76|18] 9 A-IBX HE kI 97.1| 98.5| 97.9| 99.3| 99.3(102.2| 594.3| 11
771 9] 9 FEHR tHHE JTH 100.6 [100.6 | 98.4| 98.2| 99.0| 97.4] 594.2| 14
78| 10| 9 | F—AFUJHIRA | BB &i¥ 95.6| 96.9| 97.8|101.8 (101.5 [100.1 | 593.7| 21
791 9|7 EE# S JtEA 97.9(100.3| 99.3| 98.9| 98.9| 98.3]|593.6| 12
80|21]| 4 F—ILEX INE A 99.8 | 95.9(101.0| 99.2| 98.9| 98.5] 593.3] 14
81| 8| 7 RAE—F R NE X 97.4|100.4 |102.0| 98.4| 97.5| 97.5| 593.2| 18
82113] 7 RE—F R A BE 97.8| 97.7| 98.1| 99.8| 97.7(101.9| 593.0| 14
83|19 2 A-IBX mEFK} 96.8| 96.9| 96.6|100.3|101.0 [101.4| 593.0| 15
84| 8| 3 A-IBX BRE a 99.9| 96.7| 98.1|102.2| 98.2| 97.6| 592.7| 15
85|16]| 4 EE# mE EX 100.7 | 98.9| 99.3| 97.4| 94.8|100.7 | 591.8| 15
86| 8 |10 Z0vy EH Mak 99.6| 98.4| 99.9| 96.0| 99.6( 97.4] 590.9] 13
87|10] 7 Back Fire Ll EHEEAER 99.7 [100.0| 99.4| 95.9| 95.6 | 99.9] 590.5| 12
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50mP60OM FRTETA17H~208 BFREEFAEANRIXRS
MBS | 5 8% | & BB 9574 K % B>ID P1 P2 P3 P4 P5 P6 | Aft | X
88120] 10 Z0vy Ak & 96.5| 95.5| 99.8| 97.7|102.4| 97.8| 589.7| 14
89|21] 5 EEH WE = 101.1| 94.6| 99.3(100.7| 99.6 | 94.2| 589.5| 15
90| 20| 5 EEF R MR 97.9| 98.0| 96.8|100.4| 99.3| 95.5]| 587.9| 14
91118 12 |FNx715470057] R F(Z 98.31100.8| 98.8| 96.5| 97.6| 95.8| 587.8] 16
921 11|10 #Z=)11SC E X 97.11 96.31100.3| 97.3| 97.3| 99.1| 587.4] 16
93117 3 R—Xvb B Z8 99.8| 95.6| 99.4 [100.0| 96.7 | 95.3]| 586.8| 14
941 16| 3 R—Fwk INFERE 97.1| 95.4| 97.3| 98.5| 99.0| 98.7| 586.0] 12
95| 1 | 15| A=Kk 1~— | fE IEFE 95.6| 98.2| 99.8| 95.9| 95.8| 99.5| 584.8] 12
96| 14| 5 |Pzx>R5470057| FIH ZFEX 96.0| 99.4| 96.9| 97.2| 96.7| 97.7| 583.9] 14
97| 16| 5 |7azx745470557] A AN 98.4| 95.6| 97.3| 98.0| 97.2| 97.4| 583.9| 16
98 19| 7 bBsBA A —58 93.8| 97.0| 97.1(101.2| 97.2| 97.5|583.8| 13
99| 14| 7 RY—F R INHELE 97.2| 98.6| 96.9| 96.1| 97.1| 96.8| 582.7] 8
100] 17| 6 |sozxzsqons57| F0E (& 101.1| 99.1| 96.5| 91.7| 97.9| 95.7| 582.0] 13
101} 3 | 15| #—IREA~<— | EH HE 98.2| 96.9| 96.6| 96.3| 98.7| 95.1|581.8] 13
102] 18] 2 WEBRA b INEF i 100.3| 96.3| 98.5| 94.9| 96.2| 94.0] 580.2] 16
103 11| 7 |Fnx743470457] kO BE 96.5| 95.7| 96.0| 96.3| 97.6| 97.9| 580.0] 11
104 14| 8 | 779—7747 | &4& H# 95.4| 95.9| 99.8| 97.2| 92.8| 97.8| 578.9| 11
105| 15| 6 NRT ING RS ER 99.0| 98.5| 94.0| 96.6| 94.3| 95.9]| 578.3| 14
106 17| 5 | koVoF—4— | #E 588 96.2| 94.4| 96.1| 97.2| 94.8| 98.6|577.3| 10
107 2 |16 KK 2l EF 91.6| 97.3|100.1| 97.7| 90.9| 98.7| 576.3| 11
108] 20| 3 BB INg HE 96.5| 94.6| 96.5| 94.8| 96.4| 96.6| 575.4] 6
109|131 9 70y xE #FE 97.5| 95.8| 97.8| 99.6| 93.6 | 90.7 | 575.0| 12
110} 8 | 2 (ATAY“fu FKE K 96.9| 91.1| 94.4| 98.6|101.9| 91.5| 574.4| 16
111 12| 9 |kBRS/7Ls57| B BFE 98.9| 98.4| 92.7| 92.1| 95.5| 96.7|574.3| 6
112112 7 Fit=#H+ xR OthEk 95.6| 96.7| 92.9| 92.8| 95.0| 95.3| 568.3] 8
113} 15 9 | &mEThmpk | KE 5= 91.5| 91.2| 94.0| 98.5| 94.4| 95.6| 565.2| 11
114] 15| 8 #Z)IISC BEJIl EE 95.7 | 93.6| 93.9| 93.0| 93.7| 94.8| 564.7] 10
1151171 8 REBRA B g Ea 90.5| 92.6| 98.1| 89.7| 93.3| 97.2| 561.4| 8
116] 16| 7 AY—F R IV & 91.4| 95.2| 93.2| 93.5| 94.3| 90.5| 558.1] 5
17|21 | 7 | 799—7747 | B8 #EA 92.2| 95.4| 89.2| 95.0| 89.9| 95.1]556.8] 3
118 19| 11| &dEZHMEE | EiF B 92.2| 88.6| 92.7| 92.1| 96.5| 92.2] 554.3] 3
1191 8 | 4 Z'YXY—R.C. KFE f&2— 93.7| 96.6| 92.5| 92.5| 88.1| 90.0| 553.4| 4
120} 15| 7 RE—F R FH & 92.4| 94.3| 92.5| 90.2| 93.7| 90.1|553.2| 7
121 13| 2 BsE JBRE HE 76.4| 88.5| 92.0| 92.6| 92.3| 92.0]533.8| 3
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